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INSTRUCTIONS

The question paper has '16' printed pages. Please ensure that the copy of the question paper you have
received contains all pages.

Before starting the paper, fill up the required details in the blank space provided in the answer sheet.
Write your name and Seven digit Reg. No. in the space provided at the top of this booklet.

The question paper consists of '80' objective type questions. Each question carry 4 marks and all of them
are compulsory.

Each question contains four alternatives out of which only ONE is correct.

There is NEGATIVE marking. 1 mark will be deducted for each wrong answer.

Indicate the correct answer for each question by filling appropriate bubble in your answer sheet.

The answers of the questions must be marked by shading the circle against the question by dark Black
Ball point Pen only.

For rough work, use the space provided at the bottom of each page. No extra sheet will be provided for
rough work and you are not supposed to bring the same.

Use of blank papers, clip boards, log tables, calculator, slide rule, mobile or any other electronic
gadgets in any form is "NOT PERMISSIBLE".

You must not carry mobile phone even if you have the same, give it to your Invigilator before commencement
of the test and take it back from him/her after the exam.

The Answer Sheet will be checked through computer hence the answer of the questions must be marked by
shading the circles against the question by dark Black Ball point Pen only.
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3 4
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Q.1

Q.2

Q.3

Q.4

Q.5

PHYSICS

A bomb of mass m = 1 kg thrown vertically
upwards with a speed u =100 m/sec. explodes
into two parts after t =5 sec. A fragment of
mass m, =400 gm moves downwards with a
speed v, = 25 m/sec., then speed v, and
direction of another mass m, will be :

(1) 40 m/sec. downwards

(2) 40 m/sec. upwards

(3) 60 m/sec. upwards

(4) 100 m/sec. upwards

In the diagram shown below, m, and m, are
the masses of two particles and x| and x, are
the respectively distances from the origin O.
The centre of mass of the system is :

(0] m, m,
° °

— X, —
— X,——

mXx, +m,X, m, +X,

m X, +m,X,

mm, + XX,
O mam . @ mom

m, +m,

Blocks are in contact on a frictionless table.
A horizontal force F = 3N is applied to one
block as shown. The force exerted by the
smaller block m, on block m, is-

N‘Zkg m,=lkg
F
(2) 2 N
(4) 6 N

(D 1N
(3)3 N

A ball is thrown vertically upwards with a
velocity of 10 m/s. It returns to the ground with
avelocity of 9 m/s. If g=9.8 m/sec?, then the
maximum height attained by the ball is nearly :-
(1)5.1m (2)4.1m
(3)4.61m (4)5.0m

In a projectile motion, the velocity :

(1) Is always perpendicular to the acceleration
(2) Is never perpendicular to the acceleration
(3) Is perpendicular to the acceleration for one
instant only

(4) Is perpendicular to the acceleration for two
instants
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Q.4
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u=100 m/sec & TTA I HEAER JHUR BT AR
%! T m = 1 kg S&AM BT UH 99 t=5 sec
& UZETd fawpIfeT BRI W1 H T Sl & |
m, = 400 gm cdHTT dTell Ud ¥
v, =25 m/sec B BT A& BT 3R A Bl
&, il §ER G| m, B1 =rel V, 7 faerm gl
(1) 40 m/sec. =i &I 3R

(2) 40 m/sec. 3R Bl 3R

(3) 60 m/sec. ST I AR

(4) 100 m/sec. TR BT 3R

e T R A, m, @ m, & POl @
I € A X, I X, Jof fawg O & A
ISP RAT B | M &1 g9 &5 =

O m, m,
° °

— X, —
— X,——

m,Xx, +m,X, m, +X,

O o, @)=

m X, + m,X,

O mrm, @

mm, + XX,

m, +m,

il U gYIRRET Sdd W 9Hd H Rerd
21 P &fds 9 F = 3N U /gaR &
e TR ARG 8| BIC =P m, §RI
e m, R ARG 9 ¢ -

m,=2kg

. m,=lkg
(1) I N (2; 2N
(3)3 N (4) 6 N

T Mg 109/ B I A FEdieR SR B AR
B! S B | T8 W BT MR 9/ B AT |
Sedt 2 1 afe g=9.8 MR B, 9 g gRT Ui

Ifrpad TS T B :-
(1)5.1m (2)4.1m
(3)4.61 m (4)5.0m
gerey wfe |, 9

(1) &9 RO & Afcigdd gdT &

(2) & W1 @ROT B Fgaq el el

(3) BacT TH & &0 R TR B Tqdq Biell &
(4) fH=E1 <7 &t R @ROT & Fqaq BT §
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Q.6

Q.7

Q.8

Q.9

Q.10

The dimensional formula for impulse is
(1) MLT 2 (2) MLT !
(3) ML’T™! 4) M2LT!

A bomb at rest explodes into two parts of
masses my and m, . If the momentums of
the two parts be p; and p,, then their kinetic
energies will be in the ratio of-

(I) my / m, (2) my / m;
(3)p;/py (4) py / py

If co-efficient of friction between a fixed incline
plane and the block is 1, then the acceleration
of the block shown in the following figure is (g
=10m/s?)

e
(1) Zero
(2) 2 m/s? upward
(3) 2 m/s* downwards
(4) 4 m/s* downwards

A body is projected up with a speed 'u' and
the time taken by it is T to reach the maximum
height H. Pick out the correct statement

(1) It reaches H/2 in T/2 sec

(2) Itacquires velocity u/2 in T/2 sec

(3) Its velocity is u/2 at H/2

(4) Same velocity at 2T
moves

A particle from a point

= (2m)i+(3m)j to another point
%, =(3m)i +(2m);j during whicha certain force
F = (5N)i +(5N)] acts onit. The work done

by the force on the particle during the

displacement is:-
(11017 2)0
3)57] 4)7.5]
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(3) ML’T™! 4) M2LT!

faRMIEReT WX UH 0 m; 9 m, TIHAH b
S 9T H faRpifed siar 2 | afe |l 9rT
® AT py A py, BT AT B! TfAST Golial
B AU BITI-
(I) my / m,
3)p1/ Py

(2) my / m,
4) Py / P

IfE b g IMMd ddd AT «lid b Hel
aYU—[onies 18, 1 e o | < T @l
BT TR 2 (g=10 m/s?)

m

)
(1) ==
(2) 2 m/s? R @ IR
(3) 2 m/s? SR A iR
4) 4 m/s? I A 3R

T I HR DI IR a7 'u' F FAIT @ STt
g qor s $aE H d& ugae § T 993
oIl 2 | e U g

(1) 78 H/2 $a1$ % T/2 Advs # ygad ®
(2) T8 u/2 I T/2 HHTS H U PR ofdll &

(3) sHT AT H/2 S R u/2 '

(4) BT 97 2T R FAE 2

U$H HUT UX &7 Y8 UH faf¥=d 94
I—;:(5N)7+(5N)] P BRI, FHIT 45
= (2m) + (3m)] @ faeg
6= (@m)i+@m)] @@ TR @A &1 5
faenu= % 91 §RT B9 WR 6y T BRI &7 A4
ST I |

(1)107
(3)57

(2) 0
(4)7.57
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Q.11

Q.12

Q.13

Q.14

Q.15

A ball of mass m approaches a moving wall of
infinite mass with speed v along the normal to
the wall. The speed of the wall is u towards the
ball. The speed of the ball after an elastic
collision with the wall is :

(1) v—2 u away from the wall

(2) 2u + v away from the wall

(3) u —vaway from the wall

(4) u+v away from the wall

A small disc of radius 2 cm is cut from a disc of
radius 6 cm. If the distance between their
centres is 3.2 cm, what is the shift in the centre
of mass of the disc ?
(1)0.4 cm
(3) 1.8 cm

(2)2.4cm
(4)1.2cm

Four particles are in x-y plane at

(1) 1 kgat (0, 0) (2)2kgat(1,0)
(3)3kgat(1,2) (4)4 kgat (2,0)
The centre of mass is located at
(1)(0.3,1.2) (2)(1.3,0.6)
(3)(0.5,1.4) (4)(1.2,0.3)

A stone of mass 0.2 kg is tied to one end of a
thread of length 0.1 m whirled in a vertical
circle. When the stone is at the lowest point of
circle, tension in thread is 52N, then velocity
of the stone will be :
(1)4m/s

(3)6m/s

(2)5m/s
(4)7 m/s

As shown in figure A, B and C are identical
balls B and C are at rest and, the ball A
moving with velocity v collides elastically with
ball B, then after collision:
S e
(1) All the three balls move with velocity
v/2
(2) A comes to rest and (B + C) moves
with velocity v/ 2
(3) A moves with velocity v and (B + C)
moves with velocity v

(4) A and B come to rest and C moves
with velocity v
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IR BT x-y del # 1 R Rera € -
(1) (0,0) =R 1 kg (2)(1,0) R 2 kg
(3)(1,2) R3 kg (4) (2,0) R4 kg
gIdI GHHM B BN -
(1)(0.3,1.2) =W 2) (1.3, 0.6) TR
(3) (0.5, 1.4) W (4)(1.2,0.3) W

0.2 kg T &1 U TR 0.1 m ow=1g @l
Th SN & U R W d1 gam 7, d s
SR g H AT ST & | Sld IR < &
e fawg R 2, SN H a1a 52N B B,
TR &1 O BT :

(1)4m/s (2)5m/s

(3)6m/s (4)7m/s

Ty v fa ®, A, B9 C 99%7 91T g,
BdC foRMm w® g T v a7 4 Ihefia i
A, 7T B UIRY ®Y A TFHY Bl B,
ql cFPR D UEq

A, B C

O Q)
(D) 9 @9 < v/2 37 | A B 7
(2) AfRm # o St € dr (B + C),
v/ J2 9 | Afd Rl 8
(3) A, v T ¥ Tfq Brell ® e (B + C),
VAT | T BT '
(A AIBfRME H am &A@ & @ C, v AT
I Ty PR 2
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Q.16

Q.17

Q.18

Q.19

Q.20

Two bodies of mass 0.3 kg and Q.16

0.4 kg are tied to the ends of
a weightless string which
passes over a smooth pulleyas a T
shown in the figure. The tension
in the string is-

—eo

0.3k
¢ 0.4kg

(2) 3.36 Newton
(4) 3.0 Newton

(1) 3.06 Newton
(3) 4.05 Newton

The magnitude of vector K,}_é and 6 are

Q.17
respectively 12,5 and 13 unitsand A B = C

then the angle between 4 and g is

(1)0 Q)
(3) n/2 (4) /4

A particle is moving in a circle :

(1) The resultant force on the particle must be
towards the centre.

(2) The cross product of the tangential
acceleration and the angular velocity will be zero.
(3) The direction of the angular acceleration
and the angular velocity must be the same.
(4) The resultant force may be towards the
centre.

Q.18

The graph between the displacement x and time
t for a particle moving in a straight line is shown
in figure. During the interval OA, AB, BC and
CD, the acceleration of the particle is

Q.19

H
@ -
C)—
@ -

The figure shows the position-time (x-t) graph Q.20
of one-dimensional motion of a body of mass
0.4 kg. The magnitude of each impulse is :-

4

2 . : : N
xm)| /i : : :

f

0 2 4 6 8 1012 14 16
t(s) —»
(2) 0.8 Ns
(4)0.2 Ns

(1) 0.4 Ns
(3) 1.6 Ns
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& gRd TS WREE SN &
T RRI A 9 € S Ry A ¢ i
3 IR e e oy @ T T
R F ORdl 81 SN H aAra

g 0.3kg
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(3) 4.05 e (4) 3.0 =g

afeer A, B @@ ¢ @ uReT HHer: 12,59 13
P E A A4 B=C & Ol A IBP 7L
DI T

(1)0
3) n/2

2)n
4) w4 1

Tdh BT R g W T IR @ -

(1) ®o1 R gRomH 9o FREd ©u 9 o @
3R BRT

(2) @i o7 iR el WReg @R &1 |
O I B

(3) ®IM A7 iR i @Ror o feen fAfad
w9 | T B8R

(4) IRUITN 91 Beg B TWH BT Fhal &

IR XET H o fed wor & forv favermo=
X 9T 99T t H d° U6 o § uefdid 2
It OA, AB, BC @211 CD, & SRS &7 &l
TR B :

CD
(1) t
) 0
®) t
4) 0

1 o 0.4 kg S &1 Teh g BT ThfdH
Y BT RAIfI—977 (x-t) 3IRE g0 8 | UAD
JITAT T YRATT 2

2 j A i N
x(m)| /i : : :

f

»
»

0 2 4 6 8 1012 14 16

t(s) —»
(1) 0.4 Ns (2) 0.8 Ns
(3) 1.6 Ns (4) 0.2 Ns
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Q.21

Q.22

Q.23

Q.24

Q.25

Q.26

Q.27

CHEMISTRY

2 moles of H, at NTP occupy a volume of
(1) 11.2 litre (2)44.8 litre
(3) 2 litre (4)22.4 litre

The amount of zinc required to produce 224mL
of H, at NTP on treatment with dilute H,SO,
will be -
(1)0.65¢
(3) 65¢

(2)6.5g
(4) 0.065¢

0.5 mole of H,SO,, is mixed with 0.2 mole of
Ca(OH),. The maximum number of moles of

CaSO, formed is -
(1)0.2 (2)0.5
(3)0.4 @ 1.5

If water samples are taken from sea, rivers,
clouds, lake or snow, they will be found to
contain H, and O, in the fixed ratio of 1 : 8.
This indicates the law of -

(1) Multiple proportion

(2) Definite proportion

(3) Reciprocal proportion

(4) None of these.

Proton is -

(1) Nucleus of deuterium

(2) Ionised hydrogen molecule
(3) Ionised hydrogen atom

(4) An a-particle

The spectrum of He-atom may be considered

similar to the spectrum of -
(HH (2)Li*
(3) Na (4)He"

Which species shows the electronic
configuration 1s?, 2s? 2p°, 3s* ?

(1) Ne (Ground state)

(2) Al (Ground state)

(3) Mg" (Excited state)

(4) Na* (Excited state)

CODE:A

Q.21

NTP W 2 Hiel H, &7 AIe e e &

(1) 11.2 litre (2) 44.8 litre
(3) 2 litre (4)22 4 litre

Q.22 fSi® # fbas A= B 99 H,S0, &

Q.23

SR BRI NTP W 224mL H, ure grfl-

(1)0.65¢
(3) 65¢

(2)6.5g
(4)0.065g

H,SO, % 0.5 et B Ca(OH), & 0.2 Aief
e fAerrar war| gt CaSO, & Hiell &

Sfrpds wvear T Bl
(1)0.2 (2)0.5
(3) 0.4 4) 1.5

Q.24 I Hyz, =<l q1ee, e, A1 B9 (@) ¥ o &

Q.25

T ford S 1 S H, T2 O, &1 ST
fAfega 1 : 881 2| it 1 # & i fraH
ENIRIR

(1) Iforer srgamet

(2) e srgam

(3) FgopH 3rguTd

(4) 5T 4 PIg T

ure ® -

(1) SgfeRam &1 i

(2) ST BTEHIoIT 37

(3) AT BIS SIS YA

(4) TH o-HoT

Q.26 EifermH URHTY] DT ICH g FHE AET ST

AHdT & —
(HH
(3)Na

(2)Li*
(4)He

Q.27 = # ¥ BT gonfa 1s?, 2s? 2p°, 3s?

goldei=d =T 2Tl 8—
(1) Ne (T 3favem)

(2) AI'”? (<1 3rawen)

(3) Mg" (STIfTa 3ra=er)
(4) Na* (G?ff\lﬁ 3[R
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Q.28

Q.29

Q.30

Q.31

Q.32

Q.33

Q.34

Q.35

Nitrogen has the electronic configuration 1s2,
2s*2p ! 2p,' 2p,' and not 1 s, 2s* 2p? 2py1
2p ° which is determined by

(1) Aufbau’s principle

(2) Pauli’s exclusion principle

(3) Hund’s rule

(4) uncertainty principle

Principal quantum number of an atom repre-
sents

(1) Size of the orbit

(2) Spin angular momentum

(3) Orbital angular momentum

(4) Space orientation of the orbital

The number of nodal planes ina p, orbital is :
(1)one (2)two
(3) three (4) zero

Elements which occupied position in the Lother
mayer curve, on the peaks, were -

(1) Alkali metals

(2) Highly electro positive elements

(3) Elements having large atomic volume
(4) All of these

The elements of groups, 1, 2, 13, 14, 15, 16
and 17 are collectively called -

(1) Noble gases
(2) Representative or normal elements

(3) Transition elements
(4) Inner transition elements

Which follows octet rule ?
(1) FeCl, (2) AgCl
(3) CaCl, (4) CuCl

The compound which has the highest Lattice
energy is
(1) LiF

(3) NaCl

(2) LiCl
(4)MgO

In atriple bond there is sharing of:
(2) 4 electrons
(4) 6 electrons

(1) 3 electrons
(3) Several electrons
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Q.36

Q.37

Q.38

Q.39

Q.40

Polarization of ions is governed by -
(1) Hybridization (2) VSEPR theory
(3) Fajan's rules (4) Pauling rule

At 0°C, the density of a gaseous oxide at 2 bar
is same as that of nitrogen at 5 bar. What is the
molecular mass of the oxide ?

(1)70 (2)210

(3)35 (4)52

At 100°C a gas has 1 atm. pressure and 10 L
volume. Its volume at NTP would be -

(1) 10 litres

(2) Less than 10 litres

(3) More than 10 litres

(4) None

Which of the following gases will have the
highest rate of diffusion?

(1) O,
(3) CO,

(2) NH,
(4)N,

Temperature above which gas behave ideally
over a wide range of pressure is called as :
(1) Boyle's temperature

(2) Inversion temperature

(3) Critical temperature

(4) Kraft temperature
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Q.41

Q.42

Q.43

Q.44

Q.45

BIOLOGY

A living organism can be differentiated from a
nonliving thing on the basis of its ability for —
(1) Conciousness

(2) Growth and movement

(3) Responsiveness to touch

(4) Interaction with environment and
progressive evolution

L. Growth

II. Reproduction

III. Response to stimuli
IV. Metabolism

V. Cellular organisation
Which of the above features are generally
characteristic of life ?
(HLILIV,V

3)IL I rv

)All
41,1, 1L, V

Which is not correct about methanogens ?

(1) They are archaebacteria

(2) They live in marshy areas

(3) Methane is their preferred carbon source

(4) They are present in guts of several ruminant
animals (cow, buffaloes) and they produce
biogas (CH,) from the dung of these
animals

Which of'the following are autotrophs ?
(1) Photosynthetic bacteria

(2) Chemosynthetic bacteria

(3) Archaebacteria

(4) Both (1) and (2)

Which of'the following statements is correct —

I. Mycoplasma has no cell wall

II. Mycoplasma is the smallest living organism

III. Mycoplasma cannot survive without O,

IV. Mycoplasma are pathogenic in animals and

plants

V. True sexuality is not found in bacteria

VI. A sort of sexual reproduction by adopting
a primitive DNA transfer from one
bacterium to the other occurs

(HAI (2) Only 11

G LILIV,V, VI (4) 1, 11, VI
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Q.46

Q.47

Q.48

Q.49

Q.50

Which of the following play a greatrole in Q.46
recycling nutrients like N, P,and S —

(1) Chemosynthetic autotrophic bacteria
(2) Parasitic bacteria

(3) Photoautotrophic bacteria

(4) Cyanobacteria

Select the correct options about algae - Q.47
(1) Some algae are associated with fungi (in

lichen) and animals (on sloth bear)

(2) Great range in form and size

(3) Reproduce by vegetative, asexual and

sexual method

4)All

Which of the following is not a feature of the
brown algae?

(1) Multicellularity and large size

(2) Almost exclusively marine

(3) Attached forms have hold fast

(4) Most common pigment is chl b

Q.48

Which of the following statements doesnot Q.49
characterize the red algae -

(1) Floridean starch (reserve food)

(2) Both spores and gametes are nonmotile

(3) Post fertilization development is like other

algae

(4) Red algae can vary their ratio of photosyn-

thetic pigments depending upon the light con-

ditions

Bryophytes are called “Amphibians of the plant
kingdom’ because-

Q.50

(1) They are found in only water

(2) Plants live in soil but are dependent on wa-
ter for sexual reproduction

(3) It needs water for spores formation

(4) Water is essential for its survival
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Q.51

Q.52

Q.53

Q.54

Q.55

SYRRET H ARIALTOT T 57

(1) 31 fage, IRSIUR I &9 7T 2 |
(2) Afte fige, REUR 4@ a1 Il & |
(3) 3 fage, SIRIUR & &9 SIraT © |
(4) Afte fIge, SRR &7 99 ST & |

What is characteristic of deuterostomes ? Q.51
(1) Radial cleavage, blastopore becoming
mouth
(2) Spiral cleavage, blastopore becoming
mouth
(3) Radial cleavage, blastopore becoming anus
(4) Spiral cleavage, blastopore becoming
mouth
Match List-Iwith List-Il and select the correct ¢ 52
option :
List-I List-11
A. Protozoa 1. Pennatula
B. Aschelminthes 2. Beroe
C. Porifera 3. Monocystis
D. Ctenophora 4. Wuchereria
E. Cnidaria 5. Cliona
Answer codes :
(HhA=3,B=5,C=4,D=1,E=2
2)A=3,B=4,C=5,D=2,E=1
3)A=4,B=3,C=5,D=2,E=1
4A=3,B=4,C=5D=1,E=2
Select the matching pair : Q.53
(1) Giardia — Diarrhoea
(2) Plasmodium — Pyorrhoea
(3) Leishmania — Dysentery
(4) Trypanosoma — Kala-azar

Which is the correct sequence of the pathof () 54
water current flowing through Leucosolenia ?
(1)Osculum  — spongocoel — ostium
(2)Osculum  —> ostium -

spongocoel

(3) Spongocoel - osculum ~ — ostium
(4) Ostium — spongocoel — osculum

The true diploblastic animals belong to Q.55
(1) Coelenterata & ctenophora

(2) Cnidaria & porifera

(3) Annelida & Nema toda

(4) Porifera & protozoa
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Q.56

Q.57

Q.58

Q.59

Q.60

Q.61

Cestodes are distinguished from other
flatworms by the absence of :
(1) nervous system (2) digestive system

(3) excretory system  (4) reproductive system

Which of the following character does not
belong to Arthropoda :-

(1) Closed circulatory system

(2) Movable jaws

(3) Segmented body

(4) Jointed legs

Which is the characteristic feature of
Echinodermata :-

(1) Smooth skin and radial symmetry

(2) Spiny skin and radial symmetry

(3) Spiny skin and bilateral symmetry

(4) Smooth skin and bilateral symmetry

Hemichordata are not regarded as true
chordates because :-

(1) They do not have pharyngeal gill slits

(2) Their notochord is not a true notochord
(3) They do not have dorsal hollow nerve cord
(4) (2) & (3) of the above statements

Match the following
Column I

A. Jasmine

B. Pineapple

C. Zaminkand

D. Ginger

Codes :

(1)A-(1), B-(i11), C-(iv), D-(i1)
(2) A-(i1), B-(1), C-(iv), D-(ii1)
(3) A-(1i1), B-(1), C-(i1), D-(iv)
(4) A-(1i1), B-(1), C-(iv), D-(i1)

Column II
(1) Sucker
(11) Rhizome
(iii) Stolon
(iv) Corm

Consider the following statements and choose
the correct answer :

A. Advertising flag of Mussaenda is amodified
sepal

B. Pappus is persistent hairy petal in asteraceae
C. In Trapa, calyx is modified into two spines
Codes :

(1) All are correct
(3) Cis incorrect

(2) Bis incorrect
(4) Aand B are correct
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Q.62

Q.63

Q.64

Q.65

Q.66

Q.67

Floral formula Br® 97 P;\AHQ( , represents

the family with one of the following group of
plants ?

(1) Crotolaria and Astragalus

(2) Lepidium and Iberis

(3) Lepidium and lberis

(4) Allium and Asparagus

Stele consists of :

(1) Pericycle, vascular bundles and pith
(2) Endodermis and vascular bundles
(3) Cortex, vascular bundles and pith
(4) Pith, endodermis and pericycle

“Included phloem” can be defined as :

(1) Phloem present within the secondary xylem
(2) Phloem present within the primary xylem
(3) Phloem present within the pith region

(4) Phloem present with the cortical region

Anatomically dicot stem differ from monocot
stemin:

(1) Absence of hypodermis

(2) Presence of endarch xylem

(3) Having conjoint vascular bundle

(4) Presence of starch grains in endodermis

The cells which lie between xylem and phloem
in dicot roots forms -

(1) Interfascicular cambium

(2) Intrafascicular cambium

(3) Conjuctive tissue

(4) Pith rays

Which of the following is not associated with
epithelium ?

(1) Cells are compactly packed with little
intercellular space

(2) Itis highly vascularized

(3) It forms covering or lining of external and
internal surfaces

(4) It helps in potection, secretion, absorption,
respiration, etc.
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Q.68

Q.69

Q.70

Q.71

Q.72

Q.73

Q.74

Which of the following is false ?

(1) Adipose tissue is located mainly below skin
(2) Tendon consists of white fibrous tissue

(3) Tendon connects a bone with another bone
(4) Ligaments connect a bone with another bone

Adipocytes are mainly present in —
(1) Bones (2) Nerves
(3) Cartilage (4) Connective tissue

Spermathecal pores of Pheretima are present
n

(1)5/6,6/77/8 and 8/9

(2)6/7,7/8.8/9 and 9/10

(3)1/2,2/3,3/4 and 4/5

(4) 14/15,15/16,16/17 and 17/18

Spiracles found in cockroach are

(1) 2 pairs in thorax and 10 pairs in abdomen
(2) 2 pairs in thorax and 6 pairs in abdomen
(3) 2 pairs in thorax and 8 pairs in abdomen
(4) 2 pairs in thorax and 4 pairs in abdomen
Cephalothorax is found in the

The toad possesses

(1) Bifid tongue, slippery skin and mucous
glands

(2) Salivary glands, mucous glands and parotid
glands

(3) Parotid glands, warty skin and semicircular
snout

(4) Slippery skin, yellow pigment and abundant
mucous glands

The prokaryotic cells are characterised by
(1) Distinct chromosome

(2) Absence of chromatin material

(3) Absence of nuclear membrane

(4) Distinct nuclear membrane

The universally accepted model of plasma
membrane is

(1) Lamellar model

(2) Unit membrane model

(3) Fluid mosaic model

(4) Overton model
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Q.75

Q.76

Q.77

Q.78

Q.79

Q.80

Ribosomes when associated with ER, are
attached with their

(1) Small subunit

(2) Large subunit (60s)

(3) 80S subunit

(4) Either by smaller subunits or by the larger
subunits

Mitochondria and chloroplasts are semi-
autonomous as they possess

(1) DNA

(2) DNA + RNA

(3) DNA + RNA + ribosomes

(4) Proteins

The quaternary structure of a protein -

(1) Consists of 4 subunits - hence the name
quaternary

(2) Is unrelated to the function of the protein
(3)Bothaandb

(4) Depends on the 1° structure of subunits

In a saturated fat, you would expect to find all
of'the following except —

(1) Single-bonded carbon atoms

(2) CH; at one end

(3) Fatty acid(s) attached with glycerol

(4) Double bonded carbon atoms fatty acids

Phospholipid s :

(1) one fatty acid and three glycerol

(2) phosphoric acid, two fatty acids and one
glycerol

(3) phosphoric acid, one fatty acid and three
glycerol

(4) phosphoric acid, three fatty acids and one
glycerol

Catabolic and anabolic pathways are often
coupled in cell because —

(1) The intermediates of a catabolic pathway
are used in the anabolic pathway

(2) Both the pathway use the same energy
(3) The free energy released from one pathway
is used to drive other

(4) Their enzymes are controlled by their same
activators and inhibitors
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ANSWER KEY

Class : XI (Medical) SAMPLE PAPER
Q1 4 Q31 4 Q.61 2
Q2 3 Q32 2 Q.62 3
Q3 1 Q33 3 Q.63 1
Q4 3 Q34 4 Q.64 1
Q5 3 Q35 4 Q.65 4
Q6 2 Q36 3 Q.66 3
Q7 2 Q37 1 Q.67 2
Q8 1 Q38 2 Q.68 3
Q9 2 Q39 2 Q.69 4
Q.10 2 Q.40 1 Q.60 1
Q.11 2 Q.41 1 Q.71 3
Q.12 1 Q42 2 Q.72 3
Q.13 2 Q43 3 Q.73 3
Q.14 2 Q.44 4 Q.74 3
Q.15 4 Q45 3 Q.75 2
Q.16 2 Q.46 1 Q.76 3
Q.17 3 Q.47 4 Q.77 4
Q.18 4 Q.48 4 Q.78 4
Q.19 2 Q.49 3 Q.79 2
Q20 2 Q.50 2 Q.80 3
Q21 2 Q.51 3

Q22 1 Q.52 2

Q.23 1 Q.53 1

Q24 2 Q.54 4

Q25 3 Q.55 2

Q.26 2 Q.56 2

Q27 3 Q.57 1

Q28 3 Q.58 2

Q.29 1 Q.59 4

Q30 1 Q.60 4



